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* ﬁ—%ﬂ«fﬂ A& AT Y- R E ? (A) aphotic zone (B) euphotic zone (C) intertidal
zone (D) estuary.
The thickness of mixing layer in upper ocean is about (A) 2-3m (B) 20-50 m (C) 10-500
m (D) 100-5000 m.
The force deflects a moving object to the right in northern hemisphere and to the left in
southern hemisphere which is the so called (A) Mars force (B) Coriolis force (C) Wangs
force (D) Chaos force.
The persistent current in the eastern offshore of Taiwan is( A )Oyashio current( B )Red current
(C) Kuroshio current (D) Yellow current.
The combined effects from solar heat and rotation of earth form the atmospheric circulation
on earth in terms of (A ) one (B) two (C) three (D) four cell circulation.
The most dominant tide generating force comes from (A) sun (B) moon (C) galaxy (D)
star.
When incident waves approach shore obliquely the wave direction will turn normal to the
shore is called (A) deflection (B) refraction (C) diffraction (D) scattering.
Which wind direction may induce upwelling in the west coast of Taiwan (A) north (B) east
(C) south (D) west.
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